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Linear Inequalities LI3

Graphing Inequalities Name |/ l—’Q
Explore Date (NS Period

1. Children at a local daycare are allowed 1o go outside when the temperature is 84° or lower. Write
some Temperatures that woulhe children from geing outside. : =

57, 86° §7° efc

2. Children at another daycare in the same town are allowed to go oufside when the temperature is
below 84°. How does this situation differ from the situation above?

~ o

Conl a0 oumside ™ A4emp Ts &
Prosnpoe 811°, 857 8L°, 812 =t<

Shep 3. Write the inequalities that represent the situations in numbers 1 and 2.

e . .
- Number 1: Number 2:
ohscss X &S X >
. iti o
4. Graph the inequalities. e \ &g D?Cf;dg, (l S;E.?Q‘)o\eq Q\;‘Z
chozale ‘\rf;ﬂafr / ¢ P

Graphing Inequalities on a number line:
» Determine type of circle (open or closed) _
o Shade line in the direction of numbers that make the inequality true

5. Write and gmph the inequality described in each situation.

a. Mrs. Rahe asked a student to choose a number b. Inorder to open a savings account at
less than four. }’\ <Y | Forever Bank and Trust, you must deposit at
least $50. 2850

ﬁ' %T_l t i L i i 1‘0 .h ‘l i | . , ﬁ e T &_’
-4 0 o O 420 50

6. Graph the foliowing inequalities

a X>5 b. x<18

*l l¢ _i_—:'.l 4 i t.T"@'l A iw
O ¢ B
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Linear Inequalities 2

7. Match the following graphs with their inequality.
‘ ¢
Y i \ ? i M
-D x> 3 A 4+ et » .

.
a 1

Cd 3 A i i ;;
I x<3 B * I R R
/
B ¢
Xy i \ I \ I
x=3 c. # i 1 s A + : -~

X
I
w
v
&
v

8. a. If 8 > x, state 3 numbers that make the inequality true.
6,5

b. Which of the following graphs best represents the inequality?

A'@littlﬂli!i?!iik ﬁgllliilitl?iik
2101 23 4587 8910 2101 2 3 448 6B 7 8 910

¢. Compare 8 > xand x<8. SOME Tneq Wality byt LuiHTn ANk
descrtbed dilkrently (O § 18 greater ANan X
X 78 less dAham &
9. Describe how you determine whether you use an open circle or a closed circle when graphing an
inequality on a number line. ' _ _ - -
Place an cpaon orrele. 6n Q@ MUrmber— £ - (8 ret inebs e df
(N Ae 2oFs-Hon 2 place A Cloxd airele. 0n a nomber
Ldnen 1413 Inajodedl Tnhe Salutr e
10. Describe how you determine whether you shade to the right or to the lef+ when graphing an
inequality on a number line. ~ ,
3 adag inAne AdiredAion of- e possible Soludns
ey P2 ' ~
spvade in 4he direchon fhatmelco Ah< ineq ol Ay R

11. Write the inequality represented by each number line graph.

P b. P SEE—————

T T A I LT 1
R Tt 3
-6 -5 -4 -3 -2 2 -1 0 1 2 3

a.

B
>

®
-
|

-7

x>-7 X <)

<) Lohat—does Ahe bord Sohudreom maavn uhen
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Linear Inequalities 2

Card Sort Recording Sheet
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EP: pg. 171 #27-33, 42-45
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Linear Inequalities LIZ2

Introduction to Inequalities Name X
Homework Date Period

" 1. Write “true” or “false” for each inequality.

a. 2>4ff@\56’ b. 120 J‘-’Fcz\s-a ] c. 858/??*@6
d. _2<_3]@;15Q, e. 23 <203 [F«z‘s»e_(

—gTrue) 3—9<4—9{Tme_] i (- 4% > - 8| Troe
~ < -S fe > -l

’é\
(v

i v
Lo

2. -6 < -2

a. What happens ‘ro the inequality when you add 3 to both &des@
oA & 23 ~3% ]

b. What ha pens ‘ro(the ineguality when you sub(‘r;acf -4 from both srdes'>l hU‘H\M‘Y‘\j S

- =2 — O s

e

c. What happens fo the inequality when you multiply by 5 on both sides? i Mo+ ﬁj‘ l
— (_5 5 4 . m S = %Q M‘ Q i

d. What happens to the inequality when you divide by -2 on both s:des’ U"\ \.JQ”\ ) '
—{ é: e 413_Zw,,2 +‘5 .‘>‘. . qu,'S

3. Simplify and complete each statement by inserting an :nequaii’ry symbol. An operation has been
performed to both sides of the inequality. the first one has been started for you.

a | 4<8 b, | B<-2 ¢. | 5>-9 -ﬁ‘?’rg JH"P wg,
4+34 8+3 355 25 52 (o) Toa red
- — — AV ‘
e .S 71 o < 41§
) d
d | x>-7 e. 1<6 'ﬁdﬁ f. yz-8 A{]& (ﬁif\ﬁ
( ‘\“ O/
503 _5(-7) 1(-2) 2 6(-2) Lz =/ W’rﬁ’
4, Given —2 < x < 10, state a value for x that makes the s‘ra‘remen‘r true and value for x that makes

the statement false, "T('(_M DX = %,
Folse: x = e, x=/9
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